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Discrete math 
 
 
1- Which of the  following statements is the negation of the 
statements “no student is present ” is : 
A. Students are present. 
B. no student is absent. 
C. 
D. 
 
2- which is not valid statement ? 
A. 
B. 
C. 
D. 
 
3- which is correct about sets: 
A.  |A-B|= |B-A| 
B. A-B = B-A 
C. 
D. 
 
4- P( A U B U C) = 

A.  P(A) + P(B) + P(C) − P(A ∩ B) − P(A ∩ C) − P(B ∩ C) -
P(A ∩ B ∩ C).  

B. P(A) + P(B) + P(C) − P(A ∩ B) − P(A ∩ C) − P(B ∩ C) + 
P(A ∩ B ∩ C). 
C. 
D. 
 
5- (  نكمم ةباجلإاو ،تارایتخا عبرا ھیف لاؤس مھدنع بلاطلا نا لاؤسلا تركف

 ھنا طرشب ھحیحص ةباجإ نوكت نكمم يللا تلاامتحلاا ددع مك ،رایخ نم رثكا نوكت
) يضاف ھیلخیام ) 

1- 15 
2- 10 
3- 64 
4-  



Programming 
 

 
 
1- What is the output of the following program: 
 

public	class Test{ 
        public	static	void main(String args[]){ 
         String s1 = new String("Hello"); 
  String s2 = new String("Hellow"); 
  System.out.println(s1 = s2); 
 }	
}	

 
A. Hello 
B. Hellow 
C. Compilation error 
D. Throws an exception 
 
2- What is the output of the following program: 
                       public class testmeth  
                       { 
                           static int i = 1; 
                           public static void main(String args[]) 
                            { 
                                 System.out.println(i+” , “); 
                                 m(i); 
                                 System.out.println(i); 
                            } 
                            public void m(int i) 
                            { 
                               i += 2;                                
                            }  
                       }  



A.  1 , 3                   
B.  3 , 1                   
C.  1 , 1      
D.  1 , 0  
Reason:  Parameter values are passed by value in the 
calling of a method, and  so a copy of the value is created 
in the method, and the original value is not affected by 
the method call.              
 
2- When you pass an array to a method, the method 
receives _________ . 
A. A copy of the array. 
B. A copy of the first element. 
C. The reference of the array. 
D. The length of the array. 
 
3- Which of the following statements is correct about 
constructors 
A. A constructor must be declared as public.  
B. A constructor cannot be overloaded.  
C. we can named different of Class name. 
D. use to Create Object 
 
4- to prevent any method from overriding we declare 
the method as: 
A. Abstract 
B. Static 
C. Final 
D. const 
Reason:  Final methods of the base class cannot be 
overridden in the derived Class. 
 
 
 
 



5- Submarine.Dive(depth): 
A. Dive must be method 
B. Dive must be name of an instance field. 
C. Submarine must be method. 
D. Submarine must be the name of class. 
Reason:  The other choices can be allowed, but not ‘must’ 
 

 
 

Data structure 
 

 big O notation  مھنم علطا داوكأ ثلاث اج -١
 
 شریسلا نع نیلاؤس اج  -٤
 )٥٧ ناك( لودجلا ةیاھنب مقر نیددحمو ماقرأ ھیف لودج نیبیاج وناك
  نیلاؤس ھیلعو
 :اذك يز ناك لودجلاً ابیرقت

14 13 12 11 10 9 8 7 6 5 4 3 2 1 0 
57               

 حر فیك :)Binary search(شریس يرنیابلا نع ناك لولأا لاؤسلا
 ٥٧ مقرلل لصوی

 ؟ سكدنأ مكب رمی -

 صنلاب يرلأا مسقت حر يرنیابلا نا حصلا باوجلا نكلو تارایخ نیطاحو
 .نراقتو

 حر فیك :)Linear Search( شریس رینیللا نع ناك يناثلا لاؤسلا
 ٥٧ مقرلل لصوی

 ؟ سكدنأ مكب رمی -

 .باوجلل لصوت نیل سكدنلاا لكب رمت حر رینیللا



6- how many queue required for implement stack? 

A. None. 

B. One queue 

C. Two queue 

D. Three queue 

 

Software engineer 

 
1- If requirements are easily understandable and defi
ned then which model is best suited? 
A. Spiral model  
B. Waterfall model  
C. Prototyping model  
D. None of the above  
 
2- UML Standard for: 
A. Uniform Modeling Language 
B. Unified Modeling Language 
C.  
D.  
 
3- Which not in software life cycle  
- coding 
- maintenance 
- Testing  
- Abstraction 
 



4- Which one of the following is not functional 
requirement 
A. product feature 
B. performance 
C. stability 
D. 
 
5- Which of the following term describes testing? 
( ھتركف سفن نكلو طبضلاب اذك اج ام لاؤسلا ) 
a) Finding broken code 
b) Evaluating deliverable to find errors 
c) A stage of all projects 
d) None of the mentioned 
 
 

Operating system 
 
 

1- The Hardware mechanism that enables a device to 
notify the CPU is called __________.   
A. Polling   
B. Interrupt   
C. System Call   
D. None of the above  
 
2- A major problem with priority scheduling is 
________.   
A. Definite blocking   
B. Starvation   
C. Low priority   
D. None of the above  
 
 



3- Which directory implementation is used in most 
Operating System?   
A. Single level directory structure   
B. Two level directory structure   
C. Tree directory structure   
D. Acyclic directory structure  
 
 
4- Thrashing occurs ________.   
A. when excessive swapping takes place   
B. when you thrash your computer   
C. whenever deadlock occurs   
D. when no swapping takes place  
 
 
5-  In one of the deadlock prevention methods, impose 
a total ordering of all resource types, and require that 
each process requests resources in an increasing 
order of enumeration. This voilates the 
_____________  condition of deadlock 
  ( تارایتخلااھ سفنو كولدیدلا نع ناك نكلو ةغیص لاھ سفنب ناك ام لاؤسلا ) 
A. Mutual exclusion   
B. Hold and Wait   
C. Circular Wait   
D. No Preemption  
 
 
 
 
 
 
 
 
 
 



 
Database 

 
 
1- The ________ clause is used to delete 
Database. 
A. Drop 
B. remove 
C. Delete 
D. 
 
2- The ________ clause is used to modify 
structure of DB.  
A. alert 
B. 
C. 
D. 
  
3- data distributed نع لاؤس  
 
4- data transaction   نع لاؤس 
 
5- Group by ـلا يوست شو لاؤس  
 
6- select نع لاؤس  
 
7- 
 

 
 
 



 
 

Network 
 
1- Which layer responsible for transfer 
datagram from node to node by link? 
A. Network 
B. Transport 
C. Data Link 
D. None 
 
2- utilization of network address: 
 
 
3- UDP: 
A. checksum 
B. Three hand shaking 
C.  
 
3- DHCP assigned: 
A. Port Number. 
B. IP Address. 
C. Send connection to server 
D. 
 
4-  
5-  
6- 
 

 
 



 
Network security 

 
1- The asymmetric key cryptography can be used in: 
A. digital signature 
D. key exchange  
C. encryption and decryption 
D. All of above 
 
2- as a security expert,  you received a call from some
one said payroll change last month in  an organizatio
n. What is the crucial components of security is: 
A. message integrity 
B. Confidentiality 
C. Availability 
D.  
 
3- caesar cipher نع لاؤس  

ةلمجل ریفشتلا كفن  
key = 23 

 :ةلمجلاھ علطت ریخلأابو ٢٣ فرح لك كرحن ينعی
A. Encryption Text 
 
4- 
5- 
 
 

 
 
 
 



Artificial intelligence 
 

1- Algorithms that Expand level i before i+1: 
A. DFS 
B. BFS 
C. U 
D. None 
 
2- Discrete function is  
A. Classification  
B. regression  
C. Bias  
D. None of above 
 
3- Chess with time(  ( جنرطشلا نع لأسی نكلو صقان لاؤسلا
A. fully observable 
B. partially observable 
 
4- ~(P v q)= 
A. (~p ^ ~q) 
 
 
5- 
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